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Instructions
e Use blue or black ink or ball-point pen for written answers. You may 4
use pencil for maps, diagrams and graphs.
e Fill in the boxes at the top of this page. 5

e Answer three questions in the spaces provided: two from Sections
A, B and C and one from Section D.

e Each question attempted must be from a different topic area.

e Do all rough work in this book. Cross through any work you do not
want marked.

Information
e The maximum mark for this paper is 50.
e Each question in Sections A, B and C is worth 15 marks.
e Each question in Section D is worth 20 marks.
e Mark allocations are shown in brackets.
e You will be assessed on your ability to use an appropriate form and style
of writing, to organise relevant information clearly and coherently, and Total L
to use specialist vocabulary, where appropriate. (Column 1)
e The degree of legibility of your handwriting and the level of accuracy of Total —>
your spelling, punctuation and grammar will also be taken into account. (Column 2
e Answers should relate to your own geographical studies. These may TOTAL
relate to fieldwork.
Examiner’s Initials

Advice

e You are advised to spend about 35 minutes on Sections A—C and
25 minutes on Section D.
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Answer only two questions from Sections A, B and C.
Answer only one question from Section D.

SECTION A

If you choose this section, answer either Question 1 or Question 2.
If you answer a question from this section, you must not answer Question 7 in Section D.
Each question carries 15 marks.

POPULATION DYNAMICS
1 Total for this question: 15 marks

(a) Figure 1 is an extract from the American publication ‘Retirement News’.

Extract from the American publication "Retirement News" - not reproduced
here, due to third-party copyright constraints.

(1) Using Figure 1, identify one social and one economic consequence for a town
with a large number of incoming retired citizens.

SOCIAL ottt e e e e e et ettt aaaaaettaaaa————

(2 marks)
(i) Suggest reasons why elderly in-migrants might produce economic benefits.

(3 marks)
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(iii)) Outline the negative social impacts of a substantial ageing population on a
community.

(3 marks)

(b) How and why does the population structure of a country in the MEDW differ from that
of a country in the LEDW?

(7 marks)

Turn over p
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2 Total for this question: 15 marks

(a) Figure 2 shows the relationship between fertility and infant mortality rates in selected
countries.

Figure 2, showing the relationship between fertility and infant mortality
rates in selected countries - not reproduced here, due to third-party
copyright constraints.
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(i) Define fertility and infant mortality rates.

FETTIIILY TALE ..eoneteeieiieeiee ettt ettt et e s e ebae bt eeas

(2 marks)
(i1) Describe the relationship shown in Figure 2.
(3 marks)
(iii) Suggest reasons for the relationship shown in Figure 2.
(3 marks)
QUESTION 2 CONTINUES ON THE NEXT PAGE
Turn over p
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(b) Explain how economic and political factors have influenced changes in fertility rates
over time in the UK.

(7 marks)
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NO QUESTIONS APPEAR ON THIS PAGE

TURN OVER FOR THE NEXT QUESTION

Turn over p

S301805(37)/S05/GGA2



SECTION B

If you choose this section, answer either Question 3 or Question 4.
If you answer a question from this section, you must not answer Question 8 in Section D.
Each question carries 15 marks.

SETTLEMENT PROCESSES AND PATTERNS
3 Total for this question: 15 marks
(a) Figures 3a and 3b show the results of a housing survey conducted in two contrasting
residential areas of a Midlands town. Figure 3a shows the type of housing in each area

and Figure 3b the results of an environmental quality survey.

(1) Use Figure 3a to suggest a typical location for St James and Hunsbury Meadows
within this town.

ST TAIMIES oiiiiiiiieeee ettt e e e e e ettt ettt e e e e e e ettt e b et e e eeeeeettaaaaaaas

HUNSBUTY MEAAOWS ....eeiiiiiiiiieeiie ettt et
(2 marks)

(ii) Using Figure 3b, identify which residential area relates to which line, X or Y, and
give a reason for each choice.

St James (X OF Y) cooovveeiieeeeeinieeee e,

Hunsbury Meadows (X or Y) .cceovevveviiveeiieinnene
REASOIN ooeiiiiiiteee et e e ettt e e e e e et b e e e e e e e tbbraeeeeeeenttraaeeeeeannnes

(3 marks)

(iii)) Outline how the characteristics of the residents are likely to differ between St
James and Hunsbury Meadows.

(3 marks)
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Key

[ ] StJames
6 2 Hunsbury Meadows |-

Number
of sites 4

5 4 3 2 1 0
X Y
Wide tree-lined street Q o Damaged pavements/narrow
™ L street
Oft-road parking [ ] @ | On-road parking
b
Tidy/no litter/no graffiti e T &< - Graffiti/rubbish strewn/neglected
Large well-maintained gardens ."’ | Door opens onto street
Very quiet [ ] Noisy
1
Limited traffic * [ ] Very busy road
Brickwork/roofs in good @ ® Brickwork/roofs in need of
condition B attention
[
Windows immaculate/double & Windows boarded/holes in roof
glazed ERNLN
Attractive housing design \.‘ Functional design
Double garages [ ] @ | No garages
X Y
Figure 3b

QUESTION 3 CONTINUES ON THE NEXT PAGE Turn over P
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(b)  For a named town or city, describe and explain the location of the urban zones.

(7 marks)
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NO QUESTIONS APPEAR ON THIS PAGE

TURN OVER FOR THE NEXT QUESTION
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Total for this question: 15 marks

(a) Figure 4 shows the distribution and population size of the six largest cities in both the

USA and Mexico.

San Francisco

Los Angeles

Guadalaj ara\l:l
Toluca
0 400 800 km
e ——]

UNITED STATES

New York

Philadelphia
Washington

Mexico City
E o \/J—”
Puebla, >

3

Key

20 million +

15 — 19 million

10 —14 million

5 — 9 million
1 — 4 million

Figure 4

(1) State the type of urban hierarchy shown by the USA and Mexico, when compared

with the Rank Size Rule.
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(i1)) How is the distribution of the six largest cities in the USA different from that in
Mexico?

(3 marks)

(iii)) Suggest the factors responsible for the urban hierarchy in Mexico identified in

(a)(®).

(3 marks)

QUESTION 4 CONTINUES ON THE NEXT PAGE

Turn over p
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(b) Using an example, outline the problems caused by rapid urbanisation in an LEDC such
as Mexico.

(7 marks)
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NO QUESTIONS APPEAR ON THIS PAGE

TURN OVER FOR THE NEXT QUESTION
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SECTION C

If you choose this section, answer either Question 5 or Question 6.
If you answer a question from this section, you must not answer Question 9 in Section D.
Each question carries 15 marks.

ECONOMIC ACTIVITY

5 Total for this question: 15 marks

(a) Figure 5 shows the percentage of national income earned from different sectors of the
economy in selected African countries.

Figure 5, showing the percentage of national income earned from different
sectors of the economy in selected African countries - not reproduced here,
due to third-party copyright constraints.

(1) Using Figure 5, name two countries where more than 50% of national income is
earned from the primary sector.
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(i) Suggest reasons why some countries such as these are industrialising relatively
slowly.

(3 marks)

(ii1)) Suggest one or more reasons for the importance of the tertiary sector in countries
such as South Africa and Egypt.

(3 marks)

QUESTION 5 CONTINUES ON THE NEXT PAGE

Turn over p

S301805(37)/S05/GGA2



LEAVE
1 8 MARGIN
BLANK

(b) Examine the impact of industrial growth on a country in the LEDW you have studied.

(7 marks)
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6 Total for this question: 15 marks

(a) Figures 6a and 6b (insert), show views of industry on the banks of the Mersey Estuary
in Ellesmere Port, Cheshire.

(i) Describe the characteristics of the industry shown in Figures 6a and 6b.

(2 marks)

(i1) Using evidence from Figures 6a and 6b, suggest reasons why industry of this
nature prefers such a location.

(3 marks)
(ii1) Places such as Ellesmere Port have suffered from rising unemployment in recent

decades.
Suggest reasons for this.

(3 marks)

QUESTION 6 CONTINUES ON THE NEXT PAGE

Turn over p
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(b) Referring to the UK, outline why the decline of the coal mining industry resulted in high
levels of regional unemployment.

(7 marks)
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SECTION D

Answer one question from this section, either Question 7 or
Question 8 or Question 9, on the lined pages that follow.

7 POPULATION DYNAMICS
You must not answer Question 7 if you have answered a question from Section A.
Examine both positive and negative consequences of the increase in the number of elderly
people in the UK. (20 marks)
8 SETTLEMENT PROCESSES AND PATTERNS
You must not answer Question 8 if you have answered a question from Section B.

Using a UK case study, examine the positive and negative consequences of gentrification.
(20 marks)

9 ECONOMIC ACTIVITY
You must not answer Question 9 if you have answered a question from Section C.

Examine the relative merits of a brownfield and a greenfield location for a new business park.
(20 marks)

END OF QUESTIONS
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i Write the question number in the left-hand margin.
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o Write the question number in the left-hand margin.

Turn over p

S301805(37)/S05/GGA2



LEAVE
24 MARGIN
BLANK

i Write the question number in the left-hand margin.
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